o) £'x)- s
b) £'(x) =6 (Ine)
) £'x):0

d) £'(x) =~ es” ()

e) £ - L—
Jiox

£) 41002 5 ws(5x)
§) 192 -sin(x)
2 2.1 -5
h) Nohe £(x)= x3 so flx)= Zx7 c2xTs 2L ﬁ
3 R BV~
MRADR

3) e howe f{x)= x s {‘{x)-;,gx"q -
e

k) We heed to st fogodithme diflerentiation

Y- " [\n‘f)\: (xlmﬁ)\ __‘/I\’ b [x+t)
ny = b % %{ Y‘Z f. X +x‘; S Xkt -f'\(x):l Yx(‘“"‘“)_
_ in v % thx product vule :
l) .}‘\x\ E y {1l x3~2x5)3(|2x3-2""~5)\ = (4 [l.zxj-lxs) (36 x*- 10 Xq)\
thain rule

M) £10) = < sin (<) ()
N) ) s (0]t s £x) = 4 Tes (0T [sinx) B cos® (%) S\'nx\\

o) {(x= X+ 47+ sinly) + N x; 50
) s gxZ 4y (ny)+ 0 - A P e A L
‘r(). 4 . (t4) PRVVCING

4
"]

?) —If["‘)j' [sin(x2+s)]\ ﬁr.o.&‘x + sin (x‘-&s) {ecogyj\ -

, pracluc:'!* wle '
X . X . . .
Cos (x1+5) (ax) <7+ sin (X¥s5) e [-sww) Satt [COSL*ZH) % - 5'“m

.‘T/) ‘F'(")j (5x3)" sinx - 5x° [5fn¥)\:

{sin X)z

C}\Aoi-ieq’r wle

® sy X

[ SIFYX 4 » c,osx) = |l¢ (ss’m(+xcosx)

® SVNY (

-

Tatd
W) Ay e (xosien)! =
4
Pmclud yule

chain rule

5) Nehe £}z L% so m)_—g |

5



(Xl-‘i)\ (x5) ~ (x*4) (xz’-sj‘ - ax [ x%5) = {x*-q) ax

b)) £l -
) ) \L (x?'- 5)2__ [xl’s:)l
qvu-oﬁffﬁ vole
2 —lox —ax®28x | _ax
{x-5)" (x*5)*

\ \
v) 4'tx) .L: (e,"w) tan (3%} + | a'”) [hq(a:d] :
Ptodud vole.

-7X
...‘H’,-Tx +cm\3x) + "?.—7K 5ec2(3><) c 3= E [-7+°n(3x) +3 5ecl(3>ﬂ)1 (

v) ') - Y ysats s
L [+ {5x)* P+ 25 x2
chain rule
W) f(x) s ()t | ey
J o 3xtaxts 3x¥4+Ix+5

chain

rule

><) {'{X) - sa_c[x)-i—QQIX)

@ We use IHMPLICIT DIiffepENTIATION
(x CY)‘ = [ 5xy+ q'\/“)\ Using produet rule and chain vule
1 \ )
%) &) 4 x 7)< (0 sy e gyY)
QY Fox ey Y = 5y + 5><y‘+ 16 \/37‘ Now isolote termas with Y‘on one Side
X eVy' - sxy'oey?yts sy-e!
yl (XEY - 5% 16 Lfa) - S\/ _ {_Y
l 5Y - CY.F QY-S‘_\/

y's or £

Xt\‘r—sx—lsy3 5X +I£y?’-xe\’

@ To {Lind Yl we L3 imnp\lcf'i’ dAi ftrentiobion

(x* +xyey?) = 0 | Y= - x+b
X 4 (XY 4%y 42y \[‘:o pleay )
2x+\/+x~1‘+1\,y‘:0 | = =\ +b b=2
Yx #2y}e 2%y Yz -xt2
| I

\[t': - 2AX-Y

x+2\[
sope y'ny s =aol o o2a o

|+ 3



@ .\/if (Sx)‘ cosR 4+ (5% {t-as:-c:)\ = EcosX - Ex s X
produdt ule
\/| (n) = 5 tos(m] -sm snlt) = -5
Y = ~5xtb phagy (#, - 5x)
-5% = -5R"+b bro

y: -5



